

GENESEE COUNTY ROAD COMMISSION

Serving the motorists of Genesee County for more than 100 years

211 W. Oakley Street Flint, MI 48503-3995 Website: www.gcrc.org

Board meetings: first and third Tuesdays at 10:00 A.M.

Phone: (810) 767-4920 Toll Free: (800) 249-4027 Fax (810) 767-5373 – Administration Fax (810) 767-3634 – Maintenance

DATE:

August 30, 2021

TO:

Superior Contracting Group LLC

Lois Kay Contracting Co.
Joe Raica Excavating, Inc.
Diamond Excavating
L. A. Construction Corp.

Zito Construction

SUBJECT:

Bid Tabulation

2021 Drainage Structure Local Repairs - Proposal DS-1

GCRC Nos. DS0044 thru DS0050

Various Townships

Enclosed, for your information, please find the "Itemized Bid" for the project referenced above that was bid upon by your company on August 30, 2021.

Sincerely,

GENESEE COUNTY ROAD COMMISSION

Richard Hill, P.E.

Design Department Manager

Enclosure

cc:

EJ

AP

GG

ΤK

File

4

Bid Comparison

Contract ID:

2021 DS-1

Description:

Location:

Projects(s):

Drainage Structure Repair
DS0044 Richfield Township, DS0048 Davison Township, DS0045 Fenton Township, DS0050 Flint Township, DS0049 Flushing Township,
DS0046 Grand Blanc Township, DS0047 Mt. Morris Township

Rank	Bidder	Total Bid	% Over Low	% Over Est.
0	ENGINEER'S ESTIMATE	\$176,987.50	77.14%	0.00%
1	(07526) Superior Contracting Group L.L.C.	\$99,909.10	0.00%	-43.55%
2	(00745) Lois Kay Contracting Co.	\$152,438.30	52.57%	-13.87%
3	(_292020) Joe Raica Excavating, Inc.	\$184,702.70	84.87%	4.35%
4	(_201) Diamond Excavating	\$192,547.90	92.72%	8.79%
5	(08046) L. A. Construction, Corp.	\$195,170.23	95.34%	10.27%
6	(02985) Zito Construction	\$204,192.00	104.37%	15.37%

Contract # 2021 DS-1 (Drainage Structure Repair) MERL: 2017.9.0

Line	Pay Item Code	Quantity	Units	(0) ENGINEER'S E	STIMATE	(1) Superior Contract	cting Group	(2) Lois Kay Contra	acting Co
Descr	•	,	010	Bid Price	Total	Bid Price	Total	Bid Price	Total
0001 _ Dr S	2037050 Structure, Reconstruct, Case 1	29 , Modified	Ea	\$4,500.00	\$130,500.00	\$1,242.00	\$36,018.00	\$3,838.00	\$111,302.00
0002 _ Pav	2047011 t, Rem, Modified	205.9	Syd	\$30.00	\$6,177.00	\$95.00	\$19,560.50	\$35.00	\$7,206.50
0003 _ Agg	3027031 gregate Base, Modified	48.7	Ton	\$65.00	\$3,165.50	\$55.00	\$2,678.50	\$60.00	\$2,922.00
	4037030 inage Structure Cover, Modifie	4,000 d	Lb	\$2.00	\$8,000.00	\$5.50	\$22,000.00	\$1.75	\$7,000.00
0005 Conc	6020056 Pavt, Misc, Nonreinf, 9 inch	27.8	Syd	\$200.00	\$5,560.00	\$75.00	\$2,085.00	\$120.00	\$3,336.00
0006 _ Driv	8017011 reway, Nonreinf Conc, 5 inch, I	134 Modified	Syd	\$80.00	\$10,720.00	\$67.00	\$8,978.00	\$95.00	\$12,730.00
0007 Curb	8020038 and Gutter, Conc, Det F4	71	Ft	\$50.00	\$3,550.00	\$55.00	\$3,905.00	\$50.00	\$3,550.00
	8167011 pe Restoration, Modified	289.6	Syd	\$25.00	\$7,240.00	\$6.00	\$1,737.60	\$8.00	\$2,316.80
0009 _ Har	8507031 nd Patching, Modified	8.3	Ton	\$250.00	\$2,075.00	\$355.00	\$2,946.50	\$250.00	\$2,075.00
Bid To	otals:				\$176,987.50		\$99,909.10		\$152,438.30

Line	Pay Item Code	Quantity	Units	(3) Joe Raica Exca	•	(4) Diamond Excav	•	(5) L. A. Constructi	
Descr	iption			Bid Price	Total	Bid Price	Total	Bid Price	Total
0001	2037050	29	Ea	\$4,500.00	\$130,500.00	\$4,750.00	\$137,750.00	\$4,988.68	\$144,671.72
_ Dr S	Structure, Reconstruct, Case 1,	Modified							
0002	2047011	205.9	Syd	\$25.00	\$5,147.50	\$49.00	\$10,089.10	\$32.24	\$6,638.22
_ Pav	t, Rem, Modified								
0003	3027031	48.7	Ton	\$70.00	\$3,409.00	\$81.00	\$3,944.70	\$144.12	\$7,018.64
_ Agg	regate Base, Modified								
0004	4037030	4,000	Lb	\$4.00	\$16,000.00	\$2.50	\$10,000.00	\$2.04	\$8,160.00
_ Drai	inage Structure Cover, Modified	d							
0005	6020056	27.8	Syd	\$125.00	\$3,475.00	\$142.00	\$3,947.60	\$110.36	\$3,068.01
Conc	Pavt, Misc, Nonreinf, 9 inch		-						
0006	8017011	134	Syd	\$85.00	\$11,390.00	\$58.00	\$7,772.00	\$92.61	\$12,409.74
Driv	eway, Nonreinf Conc, 5 inch, N	/lodified	,	·	. ,		. ,		. ,
0007	8020038	71	Ft	\$60.00	\$4,260.00	\$88.00	\$6,248.00	\$45.40	\$3,223.40
Curb	and Gutter, Conc, Det F4			, , , , ,	, , , , ,	,	, , , , ,	, -	, , , ,
0008	8167011	289.6	Syd	\$22.00	\$6,371.20	\$30.00	\$8,688.00	\$11.16	\$3,231.94
_ Slop	oe Restoration, Modified		,		. ,	·	, ,	·	, ,
	8507031	8.3	Ton	\$500.00	\$4,150.00	\$495.00	\$4,108.50	\$813.08	\$6,748.56
_ Han	d Patching, Modified								
Bid To	otals:				\$184,702.70		\$192,547.90		\$195,170.23

Line	Pay Item Code	Quantity	Units	(6) Zito Construction	n			
Descr	iption			Bid Price	Total	Bid Price Total	Bid Price	Total
0001	2037050	29	Ea	\$5,010.50	\$145,304.50	\$0.00		\$0.00
_ Dr 8	Structure, Reconstruct, Case 1,	Modified						
0002	2047011	205.9	Syd	\$45.00	\$9,265.50	\$0.00		\$0.00
_ Pav	t, Rem, Modified							
0003	3027031	48.7	Ton	\$90.00	\$4,383.00	\$0.00		\$0.00
_ Agg	regate Base, Modified							
0004	4037030	4,000	Lb	\$2.50	\$10,000.00	\$0.00		\$0.00
_ Dra	inage Structure Cover, Modified	t						
0005	6020056	27.8	Syd	\$150.00	\$4,170.00	\$0.00		\$0.00
Conc	Pavt, Misc, Nonreinf, 9 inch							
0006	8017011	134	Syd	\$92.00	\$12,328.00	\$0.00		\$0.00
_ Driv	eway, Nonreinf Conc, 5 inch, M	lodified						
0007	8020038	71	Ft	\$96.00	\$6,816.00	\$0.00		\$0.00
Curb	and Gutter, Conc, Det F4							
8000	8167011	289.6	Syd	\$30.00	\$8,688.00	\$0.00		\$0.00
_ Slop	e Restoration, Modified							
0009	8507031	8.3	Ton	\$390.00	\$3,237.00	\$0.00		\$0.00
_ Har	d Patching, Modified							
Bid To	otals:				\$204,192.00			